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[3] Answer the following questions. (3130 /)
(1) Calculate the effective population size for a breeding population of a diploid sexual organism

consisting of 60 adult males and 40 adult females. (10 /&)

(2) If the frequency of an allele d is 0.25 in a migrant population and 0.5 in the recipient population, and
if the migration rate is 0.1, what is the frequency of d in the recipient population after one generation of
migration? (10 /)

(3) The genotype aa is lethat and yet the population has an equilibrium frequency for & of 0.40. If the
fitness of genotype Aa is 1, what is the fitness of the A4 genotype? (10 )
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